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Iafigart ¥ g smawas fAEW /instructions to the candidate.

1.

faf@a uflan 7 100% dwgFE Wy & W
ggfapediy €1

Written examination consists of 100%
objective and the entire question are in the
multiple choices.

pa 110 g m & oA 10 Iovw F
dpfsuy g

Total 110 questions are given including 10
questions on Rajbhasha (Optional).

guficardl &) worg 4 9t @ & @ daa 100
usll &1 @ IW < UAP Uy @ 3@ &1 ¢, ufe
sdf gR1 100 A offdre ust &1 IR o s

¢, @ ad ygd 100 uyl &1 € yegiw Bl

ofTa |

Candidates are advised to answer only 100
questions. All objective questions will carry
equal marks. Each question carries one
mark, if the candidate is attempted more than
100 questions, only first !00 questions
attempted will be evaluated.

Ed IA @ U ABRIAS B gl UdD
TAd IWR & AT 1/3 3i@ S B et spufd
3 7Ted Ja]l & Y U 3fa 1T Sm@T|

There shall be negative marking for incorrect
answer.1/3 of the marks allotted per question
will be deducted for every wrong answer that

means for 3 wrong answers one mark will be
deducted.

Hdf &) Had yed W wWig A a1 S T
$1 YN ST § HAY B! TR IFRIBT 1
YedibA gl fdar qmm|

Candidate should use only single colour ink
instruction

10.

11.

quifd /Max. Marks
3af¥ / Duration

- 100
- 120 e / Min.

blue or biack otherwise their answer sheet will
not be evaluated.

RAFS UHR b U4 1 IR ad YU ubR
&1 3fawgien, sfdn, RfiTed IMfva e
T 3R &1 GedidA -id] fban snum)

While answering objective type question, no
correction like overwriting, cutting, erasing,
scoring of ticked answer and modifying the
answer in any way shall not be evaluated.

guflearl @ udlan g A WEgd Wi,
Fapacr, QaeTae ufddl, sgy e o 9

1 Ifqufa =161 81
Candidates are not allowed to carry mobile
phones, calculator, electronic  watches,

Bluetooth's etc. in the examination hall.
Juftear &) AU M, Aol R, BIH S &
w4 U ¢ ygad fag Ad fean aifgu
fydell &1 gre $A | g & aRumRaEy
3T g gHd )

The candidate should not write his/her name,
roll no., place of working or any identification
marks. Failure to observe the instructions
may result in disqualification.

u uA 3ol 3R R A wean & 31 fare @1
fRufa 7 sirsh au &) wmifors wr-n o |

The question paper has been set in English
and Hindi. In case of ambiguity the English
version is to be considered authentic.

fod o sfaa wive & wma 7 elicard 1
%, feur simem)

In case of any unfair means the candidature
will be cancelled.

3uflar Iudd Y &1 HgiE @ id & |
Candidates should strictly follow the above
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1~ | How many brake disks are provided in LHB Coach? ]

\
i

\
|
[
\
\

| e A & R 4 R gere 87
| A)ET Two B)¥ Four  C)u® One D)3 Eight

In LHB Coach ,Brake indicators are turn to red when:

TETHET 1§ FF HHAF AT a1 AT & T
1) BTE TR B}ﬁ UX |Hotaxle
2) 3 UTefETT §1H W Trainparting
3) 8% SISSST &M W IBrake binding
4) THL. A8 Wlacp
A) lQ'CTZF'Eﬁ%I 1 and 2 is True.
B) 1,2 Td 4 Tal &1 1,2 and 4 isTrue.

01743 el §11,3 isTrue.
D)2,3Wd 4 &l &1 2,3 and 4 isTrue

How much air pressure lekage rate is allowed in Coaching Train?

FF 3 & et a1y a9 fme a2 & sgafa 22
A)0.25kg/cm2permin B)0.3kg/cm2permin
C)0.6kg/cm2perbsec D)0.2kg/cm2permin

D.V.in-sensitivity test is carried out at how much air pressure drop?

& ot z- IR T R 9 7T fivree 9% B ST 87
A)0.25kg/cm2permin B)0.3kg/cm2permin
C)0.6kg/cm2perbsec D)0.2kg/cm2per min

What is the location of Bogie brake cylinder isolation cock in LHB Coach?
T F 1 F AR A Rt AT FIF FT T T 87
p) BT SIS THFHH In Underframe of coach

B) S SBSHCX U Near brake indicators
Q) FEa aﬁjﬁ T TR On brake control panel
D) Qv?@'q P IS Behind footstep

What is the choke diameter in PEAV installed in ICF(BMBC) coach for ACP?

T ¥ g ardeTs (FrwaE) = 7 iy STy & S ST AT 22
A)19mm B)7.5 mm C)8mm D)18mm

At the time of brake application, what is the maximum air pressure built in brake cylinder of

ICF (BMBC) coach?
#F o9 % g9, ICF (BMBC)W%%WﬁﬁﬁHWWWW@ﬁTﬁ?

A)2.8kg/cm2 B)2.2kg/cm2 C)3.0kg/cm2 D)3.8 kg/cm2

How many SAB are provided in ICF(BMBC) Coach?
ArERTTHETTRAEY) T # Fra TaCH IqeE FAC S 8?2
A)T Two B)=T< Four  C)F% 721 Nil D) & Eight

How many brake cylinders are provided in Single Pipe wagon(BOXN.BCN,'BRN,BLCetc)?
fRrrer qT=w &7 (BOXN,BCN,BRN,BLCetc) # fraw % fareiet et fau ST 872
AT Two B)a@ Four C)t#@ One D) 33 Eight
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I CN.BRN,BLCetc)? ~
0] ided in Single Pipe wagon(BOXN.B 7 \
10 | How many SAB are provided in SINg 3 fra SAB gara 30 \
|| R qrew &7 (BOXN,BCN,BRN,BLCetc) F One ,ﬂ/’_ﬂ
. A@Two  Bj@rEa@Nil C)ums Eight DT ' twin pipe air brake system? |
11 Whatiis the air pressure auxiliary reservoir Chafge{_gﬁ:{_r o 7 \
| R TR U A ST F ATy ATe wErE AT ca/om2 o
| A)skglom2 B)3Bkg/om2 C)kglem2 D22 KGNS oo
12 | In BVZC and BVZI wagons which device i8 fitted for BF g e AT ST 29
A S o, she A o, A 3 ) e forT A AT |

A)Guard Emergency Brake Valve TS STATarshTe(A s ATeA ll

B) Center Buffer Coupling % T Z7
C) Hand Brake #za%

D) Quick Coupling TR F7 M
13 What is the maximum air pressure inbrake cylinder during emergency rake applicatio

\
BOXNHL or BCNHL wagon when in empty condition. . ) - |
gret fRurfa § BOXNHL a1 BCNHL mﬁmwm%m%ﬁwam

a7 =19 f3FaeT grar 82
A)5 kg/cm2  B)3.8kg/lcm2 C)6kg/cm2  D)2.2kg/cm2
14  When hand brake applied in SLR caoch,brakes are applied on how many wheeg’z ;
THUAHAR F19 ¥ 9 6 5% AT FATT ¢ o7 Tohe e Gr 1 g s7eh AT S{TaT & ;
A)aT Two B)¥TX Four  C)T# One D) 3Ts Eight B

15 = How many APM devices are installed in BOXNHL (MBS) wagon?
BOXNHL (MBS) W%ﬁﬁ%APM Rar=w wréag;
A)ZT Two B)ITX Four  C)UT& One D) 3TT& Eight
16 | What will be the speed Loco while_coupling to LHB coach train?
g’ﬂﬁﬁWﬂl%l%ﬁ% gr?

AU I 27 FT

A)4 ¥ 5 kmph 4 to 5 kmph
B) 2T 3 kmph 2 to 3 kmph

C) 3T 4kmph 3 to 4kmph

| D) 5kmph  5kmph

17 | What will be the maximum _buffer height of coaching stock in empty condition?
7 T % FIT=T €21 T ATYHAHT THE SATS FT

| A)I005mm  B)1030mm  C)1105mm  D)1130mm

11 18 | How mych difference in height of CBC of coupled wagqns is permitted?
}%w T CRETEL 31':[‘1?1'%?

{ , EEY ‘
| )55mm B)65mm C)75mm D)85mm
19 | What should be the minimum B.P. air pressure in Brake Van of a passenger train?
UF TAT TTET % Jehd T | = atgf?’r %ﬂ'ﬂ a'rf%(r?

A)5 kg/cm2  B)4.6kg/cm2 C)4.8kg/cm2 D)4.7kg/cm2

20 | During continuity test in Goods stock, how much B.P. air pressure is dropped by Guard?
AT E1F § [F7a7dr goeor & 04 e g1 %mmw%ww%?

A)5 kg/cm2  B)3.6kg/cm2 C)lkg/cm2 D)4 kg/cm2

21 | What is the minimum brake power for clgsed circuit rake at enroute station?
AT gr g wom o Closedp circuit%%: AR o qTaT T 87
A)95% B)90%  C)100% D)75%

22 | What is the minimum brake power percentage issued to coaching train from originating station?
Wf?ﬁ%@m%%?ﬁ%ﬂ%%ﬁm wwﬁw%&mw%
A)95% B)90%
| O)100% D)75%
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What is the color of Premium rake BPC?
ffaw @& dﬁn%%f FT T FT 87

A)TH= white  B)TIIT yellow C)8TT green DT pink

What is the migimym brake power percentage issued
e T ke 2 pcate e s Longhu v
£)95% B)90%

C)100% D)75%

What is maximum speed of LHB coach?

A)160 kmph  B)110kmph  C)130kmph  D)120kpmh

TR

A) =t Wheel BjaNt the BogieFrame
C) IR Bearing D) sisoti BrakeBlock

in from origiggr_ing station? —\

yfetera a7 2

|

—
1

ransmission of_body

hich part is provided in bogie of
%aﬁaﬂ%gaﬁ%‘%aﬁ%ﬁgﬁeo wﬁg\%r%%%tmmmﬁma%g?

A) 3R SideBearer B)W nterPivot
C)3.UH.US E.M.Pad D) g? C.T.R.B.

What_is the maximum_limjt of flat i ?
7 FLAT 21X T WWM%%C% 2
A)60mm B)70mm C)50mm D)40mm

How many wagops are attached-in one BLC unit?
o e A o o T A g7
A2  B)3

C)5 D)9
What is full form of C.B.C,?
1 a7 81 F1 I T AT 27

A) @a Y hYUCR Control Buffer Coupler
B) PHTHT IR HUR Common Buffer Coupler
Q) T Y HUTR Center Buffer Coupler
D) T S HUTK Center Bracket Coupler

31

How marg FIBA devices are installed in.a coach?
U F19 | foha FIBA IT&T0T ?

32

A)TF One B)3T Two  C)die Three D)<Y Four
POH of LHB_coach is done in the interval of.....months.
aﬁ%r:ﬂqgra?r@ TETAT % SA<Tel § (AT ST 8

(A) 12 (B) 18 (C) 36 (D) 48

33

Permissible wheel diameter difference on thesame axle

T ot 4L T =T A
A) 0.5mm B) 5mm C) 6mm D) 13mm

34

How many brake discs are availa
T T e o fve 3 e Iuersy @7
A) 2Nos B) 4Nos C) 8Nos D) 6Nos

35

. Micrometer least count is.

ATEHTHIET AEqqHTF §

ble on oneLHB Coach?

R

A) 0.01 mm B) 0.02 mm
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C)0.05mm D)0.50 mm |
he tolerance

A dimension is stated as 25 + 0.02mm in a drawing. Wh;t is th
= ¥ ¥ srarw 25 + 0.02 fsft Ay way {1 wEAefiear F

) 0.04mm I
A) 25.00mm B) +0.02mm C) — 0.02mm D) C < are provided

In a FIAT bogle how many number of earthing device:

37
7= Rz I ¥ i i s e e o #
A) one B) two
C) three D) four _
38  POH periodicity of CTRB used on LHB coaches is.
TEUEET F1S1 9T ¥ AT $i fsivee st @
A) 18 months B) 36 months
C) 54 months D) 72 months
3¢ The maximum air pressure available in airspring is.
F7g 557 & Sueey afFaw A ae @
A) 6 kg/cm2 B) 4 kg/cm2
C) 8 kg/cm2 D) none of these
40 No of fire extinguishers provided in one ACcoach of a passenger train
TF 11 27 F UF THT FI19 § ITe FIT TT Ao d57 T gear
(A) 05 (B) 04 (C) 02 (D) 01
41 What is the Capacity of the Water Tankprovided under the frame of the
coach?
ﬁ?%w%ﬁ%mqﬁzﬁ#ﬁﬁm%ﬁ%?
A. 500 liter B. 550 liter
C. 600 liter D. 685 liter
42 One Micron is a:
TF ATIZHME 3
A) 0.01 mm B) 0.001 mm
C) 0.001 inch D) 0.0001 mm
43 Non - return valve permits water supply in:
At-Fred area fAraforfeT =T o¢ sier smgfif 7 s 3 &
A) One way T aw®r  B) Two way ara<sr
| C) Three way d= awwr D) Four way << a<wr
' The tool is used to finish drilled hole is called:

31 o T g 7 Q@ A ¥ forg o Sueer s SuEnT e St @ 9 e E
A) Reamer ©wz  B) File wrse C) Hacksaw g&=t D) Drill 3=

Fire Extinguisher should be refilled after every
FTASITHS T7 &7 T 9T AT F1RY

A) Every month <= 5rg B) Every 3 months &% 3 #gia &
C) After 1 year T a¥ ate_D) On every trip & amr X

46

During service application the brakes shouldapply in -
FfaT TefFe % ST 3% AT AR —
A) 20 Sec. B) 30 Sec
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C) 3-5 Sec. D) 15-20 Sec
47 | What is the limit of air gap between sensorand phonic wheel?
HET 3R BT =0 F A gar ¥ siaerer £y vy oy 22
A) 1.0 - 5.0 mm B) 1.0 - 10.0 mm
€)0.9-14mmD) 1.0 - 2.5 mm
/ 48 | What is the purpose of speed sensor?

ofte AT FT 39T 7T £?
| A)To compute the revolutions of each axle e T F g £ 07T Fo T

| ' B)To maintain same speed of each axle s st #Y mar vy AT 7T

|
| O)Eitheraorb adraarb
| D) None of these z#% & #r 72F

749 | What is the purpose of Dump Valve?

| ST FTe FT Ig9F FT g2
R) To maintain approximate same speed of allaxles. s gt Y Fwr iy 770

TG T
' B)To protect wheels against skidding. @) afgat =7 feger & a=mr ¥ g
C) A & B both. A si B 215t -

b) None of these 73 & #r$ &Y
' 50 | Minimum Wheel dia of Casnub Bogie is mm.
| FEAT S T AT el AT THUH ZAT 8 T
' (A) 1000
| (B) 906
(C) 1092

';l (D) 950

Side bearer oil level is checked at the interval of

' 51
| I 7 9138 fuR &1 siiegfem BIAIg |
(A) 15 days/ 15 feq
(B) 1 month/ T& A1
(C) 2 month/ 2 A8
(D) None of these/ 377 ¥ 18 oft 7
52 Number of Automatic twist locks used in BLC wagon.
ot T, Wﬁﬁﬂ#mﬁﬁﬁﬁm@mél
A) 7
B o
C) 9
(D) None of these/ 378 @ @13 4t e}
53 If gauge is found more than 1682 mm, it is termed as
%EWR 1682 TH UH | S1G] 119 &)

3|
(A)  Slack gauge/ got& Ay
(B)  Standard gauge/ ®UgE &

(C)  Tight gauge/ eTge 5
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~ Short gauge/ e A

Standard thickness of CASNUB bogies composite brake block is.

54
- FETa S & IR I sl B WD HIeTs ¢ -
A 60 mmy
- (B) a5 mny fipft
j (C) 55 mmy et
|| (D) 58 mmy fift |
55 | ‘A’ dimension of a passenger train (Non AC coach) is
| T TUSR 7 ST T H1am (A G e ) e g 2-
(A) 1412 mm/
(B) 16t2mm, fy
(C) 18t2mm, fih
(D) 20+ 2mm/ finft
56 DCP type fire extinguisher is suitable to extinguish fire.
< H# ff 2T e St AT AT F forw suger £ 1
(A)  Diesel/ S5q
(B)  Electric/ fagaq
(C)  Petrol/ B2
| (D) ATt
57 | The first step of releasing brake binding in conventional A/B system is to —
Ww%mﬁﬁwmﬁmmmmw%
(A)  Open vent plug of BC, st &5} el 3 &
(B)  Rotate SAB/ Tust gaTg
- (C) Take out pin of SAB/ SAB &1 i ¥&R ReTa
(D) Isolate DV & release manually/ DV 3iZHIee &Y IR A=y =0 F Refie 3
58 | Newly built BOXN wagon first POH periodicity is —
TafAfHd BOXN 3 % Uget POH &} Srrafiissa 2 -
- A 45yearay
- (B)  55year/d¥

- (©) 60 year/ 3§

- (D) 6.5year/ad |
L |
' 59 I Piston stroke of BOXN wagon in empty condition is — |

et ufRuferdt & BOXN 37 o1 ik w01 & -

(A) 85+ 10 mmy fardt,

(B) 7015 mm/ iyt

(C) 7515 mm/ i

(D) 80+ 10 mm/ fiy .

60 In Air brake end to end rakes, after intensive examination validity of BPC remain

up to the -
TR 9% H TH BR A W BR & ¥ B 767 THam & a1g 8pc dY e
THERE -

(A)  Next station/ 3{Tdl T
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(B) Loading point/ TS Iﬁéﬁ ,
(C)  Destination point/
(D) 72 hours/ ¥cl

61 [ Twelve is 20% of what number?
T Fvr e 1 20% 87
A)100 B)120 C)5 D) 60

62 | Ben spends 15% of his weekly budget on transportation. This week he spent $48 on

transportation. What was his weekly budget this week.

3 U WA e 7 15% TRERH T @ FTAT 8| 3 THIE JA AfA 77 $48 =+ FR) 7
THTE IHHT HTHTRF Jeic 47 IqT?
A) $720
B) $520
C)$305
D) $320

63 Calculate square of 62.

62 FTT FA BN .

(A) 3824
(B) 3924
(C) 4224
(D) 3844

|

64 If a persons Basic pay is Rs. 25000, DA is 50% of Basic and House Rest is 20% of
Basic then how much is Gross monthlysalary (BasictDA+HRA).
T T ik P14 da To 25000 B, AETTS Hl HE I $T 50% & Td AT HIST 4efl 4
q BT 20% ©. ) TaTE ! el B! Bl AT o fobe g1,

Rs.[?e 40,500
Rs./%e 41,500
Rs./¥0 42,500
Rs./¥o 32,500

TSom>

T - — ~— ~—~

(2]
[$)]

The weight of one brake block is 3.5 Kgs, if the capacity of a trolley to carry
materials is 1.4 Ton. Then how many brake blocks can be carried in the in the trolley
at atime?

e T b T HI IoH 3.5 T { Td U <Ieft &Y UTHH G T &l 1.4 T ¢ o §ad
F 2Tt & T TR R 3 1 2T ol bl €,

250
300
350
400

[e8z

66 If you have received 25 numbers of M.S.Sheets by truck and the weight of sheets
written on the issue note is 1500 kgs then what is the weight of one sheet?
3R YA T & HIEH § 25 TH THo e W1t foran § 3R 3 A W T T 1500
fepciramm foran ganm & < ward @) e e &1 oo fhae &7

(A) 55 (C) 75
(B) 60 (D)85
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i re has got a
F\ 87: Ifyou are sent to stores to bring 48 litres of Servoline Oil. ;r?iﬁeséoof 5 Litrges and 1
Measuring can of 5 Litres and 1 Litres only. How may can
Litres you will receive from stores. ;
. maﬁaaﬁmaaaﬁa%mﬂww%?@?ﬂgwgﬁéﬁm
1 SR 1 &5 8 1 ey o) o Wik 5 eftew 0 1 e e
BIR S M F FT A9 7 R 1 e 7 @
BIR 5 MR F H QA 0 9 4R 1 dex b H
C) sTsHRF ITAw 291 1 MR P P
D) 9TRsARF ITAvd3 R 1 RSP P
68:  Add/SiS: 125,07, 8.15,0.36 & 1185
(A) 1317.34
(B) 1318.58
1319.64
1319.74

(A
(B

'~ S~

69 Twelve less than 4
is the number?

%ﬁﬁw%uﬁr%mwzo%ﬁgmw%‘?
A)2 B)4 C)6 D)8

times a number is 20. What

70 Solve for x in the following equation:
Rerforfer aefimor % ¢ T AT T Hrw: 1/3X+3=8
A)5B)15 C)12 D)16

World environment day is celebrated on-
fary e wera e -

(A) 5 Maymg

(B) s June/s

(C) 5 Juyrgems

(D) s August/srTe

72 What is the chemical name of common salt?
IR T8 1 IR 19 371 22

(A) Potassium Chloride/aeRray RS

(B) Potassium Fluoride/ TYefRrry WRIZS

(C)  Sodium Chioride/ Bf¥TH FeiRTEe

(D) _Sodium Fluoride / BfeamTaiRES

73 In which disease lot of water, salt and sugar is lost from body?
SR & 9gd 9RT O, Wahﬁh'—ﬁmﬁﬁwﬁamm%?

(A)  Jaundice/diferar

(B) Diarrhealze=

(C) Malaria/warfar

(D) Fever/zar

: : ?
74 Which gas is most abundant in atmosphere of earth?
el O AgHS T H T aifiren W A 1 A Ao 2 2
Nitrogen/ATggIoT
Oxygen / et )
Carbon di-oxide /#Te 7% AL
Carbon mono-oxide /&T& AIAT sffeTEe

CleCE
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(A)  Scurvyredl

(B) Beri-Beri/af-a&

(C) Buckle Bones /&gl FT 21T
(D) Anaemia/THIRIT

75. Which disease is caused due to deficiency of vitamin ‘B1'?

RyeTiRF B0’ 3 QA S T I gl 87

26 The hammers with head made of lead, copper are called:
3T, qiy & o R ey gl Y A gy |
A) Soft hammer B) Hard hammer C) Mallet D) Sledge hammer

A)wms)wmc)ﬁﬁzo)mm

g 3 FRffeRT % forg

77 What is use of Chisel 391 T JTART T § .
A) To Remove small amount of metal and finishing purposes BIET ATAT 7 47T

B)To remove large amount of metal up to 6mm, 6 oy o St w7 ang gem & o
C) To cutting the metal on scribed line &Tg ST @t 9 e & [
D) To remove the metal on scribed line ThTEss ATET 9T €Y T ge™ & forg

JRTH AT

78 The Fins provided in between the brake discs for -
o foww ¥ fiw § Ry 1w -
A) To provided effective cooling during braking S T & S T e

B)To minimized weight of brake disc. #% fS& #I a7 F7 FH F for
C)To provided strength to brake disc) fe&h T 9Tf<F FaT FTAT
D) To increase friction property of brake disc & {2 % =TT T FT TEM & [oIT

79. Which of the following is not
recommended for chiseling?

a. Secure the workpiece with clamps.

b. Keep the chisel close to your body.

c. Always hit the tool squarely on top of the
handle.

d. Never allow the edge to touch other tools.

79. B ¥ g Fefofee & & &0 e &
27
T)FHIE A FT F e H
ah M A 9I ¥R F U
) Susw &Y gy gew & ofrd gx der ww)
yFA ot FT ST o STE A g TR

80 What is the principle of brake system used
on LHB
coaches?
a) Single pipe air brake system
Twin pipe air brake system

b)
c) Twin pipe with disc brake air brake system.
d) None of these

80 TATHH HF W TR A% fwew w1 Rgiw 7w
22

7) e gY@ SEEEH

1) feam Ry TR AhfaEH

#) e o TaR 3% feew F gy faq aeEm
)RR EEIEGE

Page 9 of 12




_—
81. 75 Ltr AR tank used for -

a) Toilet purpose b) Braking purpose

¢) Standby d) None of these.

82. What is the full form of WRA?
a. Wire relay appliances

b. Water raising apparatus

c. Worker relief arrangement

d. None of these

'82WRAam1nfvé§#aT%

81,75 iz a4 AT JWANT FRAT STATE -

t{)?ﬁam%ﬁrﬂﬁ)”m*ﬁm
f) e aprft ) zAd # A A
27

T) A e e
ft) qre IR wrEn
o) afis g e
hHzH ¥ w1 Tl

83. what is full full form of MCB
(a) Miniature circuit breaker

(b) Mini circuit breaker

() Master circuit breaker

(d) None of the above

83. TH ®ft F g WH FA 27
(T) g wfhe s

(&) Brft affe e

() ar=T gl dEc

(&) IR F & g A

84 The following is (are) used as a safety
device(s) in machines;

a) Fail safe b) Safety interlocks
c) Limit switches d) All of the above

84w9ﬁﬁﬁ$mm%mﬁﬁma$r

|
|
|
|
|
|

83. The three elements of the fire triangle are:

a. Water, a heat source, and fuel
b. Oxygen, water, and fuel

c. Oxygen, fuel, and a heat source
d. Fuel, oxygen, and earth

1) steiS, S ok wF ST A

<) 28, Aoyt

7/

86 PEASD'’ provided in LHB can be reset -
a) From under gear of coach only

b) From any where of inside coach

c) From the point where chain pulled.
d)Botha &b

86. TAUHEl ¥ fIU T "PEASD' #7 &= 7 v
T 3 -

T) Fa BT F FSX AT A

g)&E F el e oft o A

d1) 3w fig & sigf 37 &= T off
)T &R e Af

87. The hammer used for checking the
corrosion on coach body is

A) Sledge hammer B) Ball Peen hammer
C) Spike hammer D) none of these

87. @ S WX S AT Wiw ¥ g gElR
SYIRT AT ST §

T) ®iorgdleT ) o @9 guler

) TOTeE gAteT )T & A G

88 D2 Maintenance Schedule of LHB Coach
is done -

A) 30 £ 1days B) 30 + 3days

C) 30 £ bdays D) 30+ 7days

88. ¥I2 TAUET FT F @@ FEAFT T gl AT
3.

7)30+1fw d)30+3 R+

#1) 30 + 5 fam 1) 30+ 7 f_’=
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49.What is the name of the damper
connected between bogie and car body?
A) Primary B) Secondary

C) Yaw. D) None of these.

90. S| Unit of mass
A) pound B) liter
C) meter D) kilogram

1. is used to measure the
| thickness of sheet

\ A) Trammel gauge B) Pi-gauge

‘\ C) Vernier Caliper D) Above all

‘r//
192 In40/10 Ton capacity EOT crane,40 and

' 10 Ton representing respectively

A) main hoist and Auxiliary hoists capacities
Auxiliary and main hoists capacities.
Both are main hoist capacities

B)
C)
D) Both are auxiliary hoist capacity,

93. 1” inch is equal to how many “mm”?
A) 12 mm B) 25.4mm C) 3mm D) 10mm

94. In “M-12" bolt size “12 stands for

A) Pitch of the thread..

Nominal (or) Major diameter of the bolt
Minor (or) core diameter of the bolt.

B)
C)
D) Length of the bolt.

Tgo. anft o & atf & 4 g3 3o A FOA

Iy

2

) i oY) e

ot e AL
90. ForA™ HSIFTAE_____ |
)iz o) T |
) Hiex |

&) fremmm |
91. Qﬁzﬁq’m%m%%ﬁmmﬁmm%
) $HERIS EORIERIS]

ft) a3 @8 \

92. 40/10 & &AwAT A ey e AT 40 AT 10 |

&) 10 fae

94, "TA-12" AeE. AT K "12" FAL
WEIENIRE M
oY) e AR (41) HEETE

&) dree

95 What is the capacity of CR TANK?
a) 5.0 Liters b) 6.0 Liters
c) 9.0 Liters d) 8.0 Liters

95. W A IF F ewaT T 3?7
) 5.0 e &) 6.0 e 1) 9.0 e ) 8.0 A

96. Mounting of roller bearing is done by
heating the bearing on

A) Direct heating B) Furnace C) Water heater
D) Induction heater

96. e SARET A WIS FAter B TE A
W g

1) SeAErATI A) e ) AT

) TehE AR

--- kmph .

97.Speed of Medical van is fixed at
(A) 100(B) 110(C) 75(D) 120

97.%@%@@3----%@qﬁ®ﬁaﬁﬁﬁ

¥ A)100 B) 110C) 75 D) 120

98. 'Air Dryer’ Function is

A) Adding water to the Air

B) Air pressure decreasing
C) Rgmove moisture from air
D) Air pressure increasing

08 . TATITAT H T 7
w)gar ¥ T SEAm
#t)arg g FA A
T)gar ¥ T gl
SIEREEIE L
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99. Depth Rod is a part of
A) Vermier caliper B) Tri square

v) afifax Hfeme ) & @

C) Outside micrometer D) Dial gauge ) N >
100. The function of earthing device is 100. ¥ffr Ramw #1 &4 ¢

A) To protect CTRB ) St A g ¥ B

B) To protect the WSP

C) To protect the control arm %ﬁ o) ge ’{Qﬂm‘“ j;fr LT ?; g;é

D) To prevent brake binding R e

ﬁ)éﬁﬁl’{%ﬂﬁ%ﬁﬁ%m

101.4” &5 F Fg IR T FrITr ¥ A9 ¥ 9US s Refafea amor & g
A) Rt s €Rwer (B) Fawr Rt (C) ¥t ifwsr (D) ¥arer P st

102.atsﬁwwaﬁ?r@raﬁ—=rﬁam’§?
A)A(B)B(C)C(D)D

103. F=t R=T Al F semer w4 gy 82
(A) TeHHN(B) Xerw=(C) fRrerre=fi(D) werre=y

104. Ww%mmwwaﬁﬁﬁﬁéﬁﬁmmﬁ?
(A) 2(B) 1(C)4(D) 3

105. TSTATST R AT T GTeHA B FAR FAT 82
(T) TeH=red § o o o) B demerr () < dmmem (@) @ e

106. T7H & HIF AT IFANHTAH Ag foret et 27
(w) TSl s (i) ettt (€T) o=t

107. @<t feaw fobr qrde &t w@man s €2
(7) 8 A= () 10 A¥=(dY) 12 e (E) 14 Rdax

108. €faam™ 9T 7 fFw a¥ B & O wRa it oW F w7 § w@ar 3
(T) 26 ST 1950(sT) 15 3T 1947 (%) 9 srre 1942(3Y) 14 A=t 1949

109. TIRA T g & Aqae §9 Hit gwE W Fer g i,
a. AT b. FTEft c. SFd. JaMTg

110719 Teeftoher #7 fedt & & foreir ?
A) ggr &t gt B) ggr it C) gl SoT-a+ D) gel it 7=t

99, Depth Rod _______ FT TP R &
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